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@—3x2—7x—|—8 @ -3x2-x-2 ® —x>+x-3

@ —x2-x+2 ® 3x24+2x-5

A= (-2x>—4x+3) - (x> + 3x—5)
=-2x2 - 4x+3-x>-3x+5
=-3x2—Tx+38
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3x -2y + 1 o] FAct. A AASH At=9

2% 2okl Maley

@x+8y+7 @ 2x+3y+4 ® 2x-Ty-2

@ x-2y+1 ® -x+2y-3

|:|—(—x+5y+3)=3x—2)’+1

[ ]=8x—2y+1+(-x+5y+3)=2x+3y+4
=7 Aliter A=
2x+3y+4+ (—x+5y+3)=x+8+7
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A+ (2x+ by) = 6x+ 2y

= (6x+ 2y) — (2x + 5y) = 4x — 3y
whabA] 2 A Al4FeA (4x - 3y) — (2x + 5y) = 2x — 8y o[t}
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@ —x+3y @ -3x+5y
@ 5x—2y (@)x—i’)y
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A+ (3x+4y) = Tx + 5y
=(7Tx+5y)—(3x+4y) =4x+y

w2 v 2 A AFSHAE (4x +y) -

(3x + 4y) = x — 3yolt}.
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@© -8x—13y @ 2x-10y ® 6x- 10y

@®)10x — 13y ® 10x + 4y

~&B

oj@ A& A} ot

A—(4x—3y) =2x—-"Ty

A= (2x—Ty) + (4x — 3y) = 6x — 10y

wabA] B2 7] A4S (6x—10y) + (4x—3y) = 10x—13y°]t}.
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7F = A}, o] off, vf=A| A4RRE ©-2?
O -7x-14y @ b5x-2y @11x—14y
@ 14x-Ty ® 20x + 4y

~&B

ofH A& A%} 3
A - (2x—5y) =Tx—4y
= (Tx—4y) + (2x—5y) = 9x — 9y
wh2bA] BF2 A Al4FSHA (9x - 9y) + (2x - 5y) =
11x — 14y o]t}
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@ 2x2 4+ x 2
@ 3x*-x @ 4x%2 4+ x

2
@ 5x2 + 3x ®)6x2 + 5x

B

o® A2 Act 5t
A+ (=x?—2x) =4x®> + x

A= (4x* 4+ x) - (—x* - 2x) =5x* + 3

webA] HE2 A A4t (
6x2—|—5xO]‘:]J TR OB m (e =
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- =

@—x—3y @ —x-3y+1 ® —2x+3y-2

@ -2x-y ® 3x-Ty

B

P2 Al gAY

of® A& Azt 3

A+ (Bx—2y+1)=5x-Ty+2
A=0bBx-Ty+2)-Bx—2y+1)=2x-5y+1
(2x=5y+1)-(3x—2y+1) =-x—3y
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4x + 2y — 3°] H Ut

O —4x-2y-8

@ 6x—y+2

B

o A& AFste] meley
o] of, 2 A ALkt F2?
@ -2x-5y+8 @ 2x-5y-38

(@)8x—4y—|—7

A-(2x-3y+5)

L (6x—y+2)+
—8x—4dy+7

= (4x+2y-3) +

of A& Az} 5}

=4x+2y-3
(2x—=3y+5)=6x—y+2
(2x—3y+5)
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